# PRESERVATION OF EXPONENTIAL STABILITY FOR EQUATIONS <br> WITH SEVERAL DELAYS 

Leonid Berezansky, Beer-Sheva, Elena Braverman, Calgary

(Received October 15, 2009)

Abstract. We consider preservation of exponential stability for the scalar nonoscillatory linear equation with several delays

$$
\dot{x}(t)+\sum_{k=1}^{m} a_{k}(t) x\left(h_{k}(t)\right)=0, \quad a_{k}(t) \geqslant 0
$$

under the addition of new terms and a delay perturbation. We assume that the original equation has a positive fundamental function; our method is based on Bohl-Perron type theorems. Explicit stability conditions are obtained.

Keywords: exponential stability, nonoscillation, explicit stability condition, perturbation MSC 2010: 34K20

## 1. Introduction

In this paper we consider the scalar differential equation with several variable delays

$$
\begin{equation*}
\dot{x}(t)+\sum_{k=1}^{r} b_{k}(t) x\left(g_{k}(t)\right)=0, \quad t \geqslant t_{0} \tag{1.1}
\end{equation*}
$$

as a perturbation of the equation

$$
\begin{equation*}
\dot{x}(t)+\sum_{k=1}^{m} a_{k}(t) x\left(h_{k}(t)\right)=0, \quad t \geqslant t_{0} \tag{1.2}
\end{equation*}
$$

Equation (1.1) is considered for $t \geqslant t_{0} \geqslant 0$ with the initial conditions

$$
\begin{equation*}
x(t)=\varphi(t), \quad t<t_{0}, x\left(t_{0}\right)=x_{0}, t_{0} \geqslant 0 \tag{1.3}
\end{equation*}
$$

under the following assumptions:
(a1) $a_{k}(t)$ are Lebesgue measurable essentially bounded on $[0, \infty)$ functions;
(a2) $h_{k}(t)$ are Lebesgue measurable functions,

$$
h_{k}(t) \leqslant t, \sup _{t \geqslant 0}\left[t-h_{k}(t)\right]<\infty ;
$$

(a3) $\varphi:\left(-\infty, t_{0}\right) \rightarrow \mathbb{R}$ is a Borel measurable bounded function.
We assume that conditions (a1)-(a3) hold for all equations throughout the paper.
Definition 1. A function $x: \mathbb{R} \rightarrow \mathbb{R}$ is called a solution of the problem (1.1), (1.3) if it is locally absolutely continuous on $\left[t_{0}, \infty\right)$, satisfies equation (1.1) for almost all $t \in\left[t_{0}, \infty\right)$ and the equalities (1.3) for $t \leqslant t_{0}$.
Definition 2. A solution $X(t, s)$ of the problem $\dot{x}(t)+\sum_{k=1}^{m} a_{k}(t) x\left(h_{k}(t)\right)=0$, $t \geqslant s \geqslant 0, x(t)=0, t<s, x(s)=1$, is called the fundamental function of (1.1).

In several publications perturbations of delays have been studied. For example, in [1] the equation with variable delays

$$
\begin{equation*}
\dot{x}(t)=\sum_{k=1}^{m} a_{k} x\left(t-\tau_{k}-\nu_{k}(t)\right) \tag{1.4}
\end{equation*}
$$

was treated as a perturbation of the autonomous delay equation

$$
\begin{equation*}
\dot{y}(t)=\sum_{k=1}^{m} a_{k} y\left(t-\tau_{k}\right) . \tag{1.5}
\end{equation*}
$$

Lemma 1.1 [1]. Assume that equation (1.5) is asymptotically stable and

$$
\begin{equation*}
\sum_{k=1}^{m}\left|a_{k}\right| \limsup _{t \rightarrow \infty}\left|\nu_{k}(t)\right|<\frac{1}{\sum_{k=1}^{m}\left|a_{k}\right| \int_{0}^{\infty}|v(s)| \mathrm{d} s} \tag{1.6}
\end{equation*}
$$

where $v(t)$ is the fundamental solution $(v(t)=0, t<0, v(0)=1)$ of equation (1.5). Then equation (1.4) is asymptotically stable.

If $a_{k} \leqslant 0$ and the fundamental solution $v(t)$ is positive, then $\sum_{k=1}^{m}\left|a_{k}\right| \int_{0}^{\infty}|v(s)| \mathrm{d} s=$ 1 and thus Lemma 1.1 gives an explicit stability condition for the perturbed equation.

Our main method is based on the Bohl-Perron theorem. Previously it was applied to perturbation problems for impulsive delay differential equations in [2].

Below we present a solution representation formula for nonhomogeneous equation (1.1) with Lebesgue measurable right-hand side $f(t)$ :

$$
\begin{equation*}
\dot{x}(t)+\sum_{k=1}^{m} a_{k}(t) x\left(h_{k}(t)\right)=f(t) \tag{1.7}
\end{equation*}
$$

Lemma 1.2 [3], [4]. Suppose conditions (a1)-(a3) hold. Then the solution of (1.7), (1.3) has the form

$$
\begin{equation*}
x(t)=X\left(t, t_{0}\right) x_{0}-\int_{t_{0}}^{t} X(t, s) \sum_{k=1}^{m} a_{k}(s) \varphi\left(h_{k}(s)\right) \mathrm{d} s+\int_{t_{0}}^{t} X(t, s) f(s) \mathrm{d} s \tag{1.8}
\end{equation*}
$$

where $\varphi(t)=0, t \geqslant t_{0}$.

Definition 3. Equation (1.1) is (uniformly) exponentially stable, if there exist $K>0, \lambda>0$, such that the fundamental function $X(t, s)$ of (1.1) has the estimate $|X(t, s)| \leqslant K \mathrm{e}^{-\lambda(t-s)}$ for $t \geqslant s \geqslant 0$.

For linear equations this definition is equivalent to the uniform asymptotic stability [3]. Under our assumptions the exponential stability does not depend on the values of the parameters of the equation on any finite interval. Thus all our conditions should only be satisfied for sufficiently large $t$.

Denote by $L_{\infty}\left[t_{0}, \infty\right)$ the space of all measurable essentially bounded on $\left[t_{0}, \infty\right)$ functions with the sup-norm.

The following result is a Bohl-Perron-like Theorem.

Lemma 1.3 [5], [6]. Suppose for any $f \in L_{\infty}\left[t_{0}, \infty\right)$ the solution of the problem

$$
\begin{align*}
\dot{x}(t)+\sum_{k=1}^{r} b_{k}(t) x\left(g_{k}(t)\right) & =f(t), \quad t \geqslant t_{0}  \tag{1.9}\\
x(t) & =0, \quad t \leqslant t_{0}
\end{align*}
$$

is bounded on $\left[t_{0}, \infty\right)$. Then equation (1.1) is exponentially stable.

We will need the following auxiliary results concerned with nonoscillatory equations.

Lemma 1.4 [7]. Assume that $a_{k}(t) \geqslant 0, \sum_{k=1}^{m} a_{k}(t) \geqslant a_{0}>0$ and the fundamental function $X(t, s)$ of equation (1.2) is positive. Then equation (1.2) is exponentially stable. Moreover, there exists $t_{0} \geqslant 0$ such that

$$
0 \leqslant \int_{t_{0}}^{t} X(t, s) \sum_{k=1}^{m} a_{k}(s) \mathrm{d} s \leqslant 1
$$

The fundamental function is positive if and only if there exists an eventually positive solution of equation (1.2).

Lemma 1.5 [8]. The fundamental function $X(t, s)$ of equation (1.2) is positive for $t \geqslant t_{0}$ if $a_{k}(t) \geqslant 0$ and

$$
\int_{\substack{\min \\ k}}^{t} h_{k}(t) \sum_{i=1}^{m} a_{i}(s) \mathrm{d} s \leqslant \frac{1}{\mathrm{e}}, \quad t \geqslant t_{0} .
$$

## 2. Explicit stability conditions

Theorem 2.1. Assume that $a_{k}(t) \geqslant 0, \sum_{k=1}^{m} a_{k}(t) \geqslant a_{0}>0$ and the fundamental function $X(t, s)$ of equation (1.2) is positive. Assume in addition that $r \geqslant m$ and

$$
\limsup _{t \rightarrow \infty} \frac{1}{\sum_{k=1}^{m} a_{k}(t)}\left[\sum_{k=1}^{m}\left|a_{k}(t)-b_{k}(t)\right|+\sum_{k=1}^{m}\left|b_{k}(t)\right|\left|\int_{g_{k}(t)}^{h_{k}(t)} \sum_{i=1}^{r}\right| b_{i}(s)|\mathrm{d} s|+\sum_{k=m+1}^{r}\left|b_{k}(t)\right|\right]
$$

is less than one. Then equation (1.1) is exponentially stable.
Proof. Without loss of generality we can assume that for $t \geqslant t_{0}$ and some $\mu \in(0,1)$ we have

$$
\frac{1}{\sum_{k=1}^{m} a_{k}(t)}\left[\sum_{k=1}^{m}\left|a_{k}(t)-b_{k}(t)\right|+\sum_{k=1}^{m}\left|b_{k}(t)\right|\left|\int_{g_{k}(t)}^{h_{k}(t)} \sum_{i=1}^{r}\right| b_{i}(s)|\mathrm{d} s|+\sum_{k=m+1}^{r}\left|b_{k}(t)\right|\right] \leqslant \mu .
$$

Let us demonstrate that the solution of the non-homogeneous equation with the zero initial conditions is bounded on $\left[t_{0}, \infty\right)$ for any $f \in L_{\infty}\left[t_{0}, \infty\right)$.

After transformations equation (1.9) has the form

$$
\begin{aligned}
\dot{x}(t) & +\sum_{k=1}^{m} a_{k}(t) x\left(h_{k}(t)\right)-\sum_{k=1}^{m}\left(a_{k}(t)-b_{k}(t)\right) x\left(h_{k}(t)\right) \\
& -\sum_{k=1}^{m} b_{k}(t) \int_{g_{k}(t)}^{h_{k}(t)} \dot{x}(s) \mathrm{d} s+\sum_{k=m+1}^{r} b_{k}(t) x\left(g_{k}(t)\right)=f(t) .
\end{aligned}
$$

After substituting $\dot{x}(t)$ from (1.9) we have

$$
\begin{aligned}
\dot{x}(t) & +\sum_{k=1}^{m} a_{k}(t) x\left(h_{k}(t)\right)-\sum_{k=1}^{m}\left(a_{k}(t)-b_{k}(t)\right) x\left(h_{k}(t)\right) \\
& +\sum_{k=1}^{m} b_{k}(t) \int_{g_{k}(t)}^{h_{k}(t)} \sum_{i=1}^{r} b_{i}(s) x\left(g_{i}(s)\right) \mathrm{d} s+\sum_{k=m+1}^{r} b_{k}(t) x\left(g_{k}(t)\right)=g(t),
\end{aligned}
$$

where $g(t):=f(t)+\sum_{k=1}^{m} b_{k}(t) \int_{h_{k}(t)}^{g_{k}(t)} f(s) \mathrm{d} s$. Evidently $g \in L_{\infty}\left[t_{0}, \infty\right)$.
Hence a solution of equation (1.9) is also a solution of the equation $x+H x=r$, where

$$
\begin{aligned}
(H x)(t)= & \int_{t_{0}}^{t} X(t, s)\left[-\sum_{k=1}^{m}\left(a_{k}(s)-b_{k}(s)\right) x\left(h_{k}(s)\right)\right. \\
& \left.+\sum_{k=1}^{m} b_{k}(s) \int_{g_{k}(s)}^{h_{k}(s)} \sum_{i=1}^{r} b_{i}(\tau) x\left(g_{i}(\tau)\right) \mathrm{d} \tau+\sum_{k=m+1}^{r} b_{k}(s) x\left(g_{k}(s)\right)\right] \mathrm{d} s \\
r(t):= & \int_{t_{0}}^{t} X(t, s) g(s) \mathrm{d} s \in L_{\infty}\left[t_{0}, \infty\right)
\end{aligned}
$$

By Lemma 1.4 we have

$$
\begin{aligned}
|(H x)(t)| \leqslant & \int_{t_{0}}^{t} X(t, s)\left[\sum _ { k = 1 } ^ { m } \left(\left|a_{k}(s)-b_{k}(s)\right|\right.\right. \\
& \left.\left.+\sum_{k=1}^{m}\left|b_{k}(s)\right|\left|\int_{g_{k}(s)}^{h_{k}(s)} \sum_{i=1}^{r}\right| b_{i}(\tau)|\mathrm{d} \tau|+\sum_{k=m+1}^{r}\left|b_{k}(s)\right|\right)\right] \mathrm{d} s\|x\|_{L_{\infty}\left[t_{0}, \infty\right)} \\
\leqslant & \sup _{t \geqslant t_{0}} \int_{t_{0}}^{t} X(t, s) \sum_{k=1}^{m} a_{k}(s) \mu \mathrm{d} s\|x\|_{L_{\infty}\left[t_{0}, \infty\right)} \leqslant \mu\|x\|_{L_{\infty}\left[t_{0}, \infty\right)}
\end{aligned}
$$

Thus the norm of $H$ in $L_{\infty}\left[t_{0}, \infty\right)$ does not exceed $\mu<1$, so the inverse $(I+H)^{-1}$ is a bounded operator and the function $x=(I+H)^{-1} r$ is bounded. By Lemma 1.3 equation (1.1) is exponentially stable.

Corollary 1. Assume that $a_{k}(t) \geqslant 0, \sum_{k=1}^{m} a_{k}(t) \geqslant a_{0}>0$ and the fundamental function $X(t, s)$ of equation (1.2) is positive. If

$$
\begin{equation*}
\limsup _{t \rightarrow \infty} \sum_{k=1}^{m} \frac{a_{k}(t)}{\sum_{i=1}^{m} a_{i}(t)}\left|\int_{g_{k}(t)}^{h_{k}(t)} \sum_{i=1}^{m} a_{i}(s) \mathrm{d} s\right|<1 \tag{2.1}
\end{equation*}
$$

then the equation

$$
\begin{equation*}
\dot{x}(t)+\sum_{k=1}^{m} a_{k}(t) x\left(g_{k}(t)\right)=0 \tag{2.2}
\end{equation*}
$$

is exponentially stable.
Corollary 2. Assume that $a_{k}(t) \geqslant 0, \sum_{k=1}^{m} a_{k}(t) \geqslant a_{0}>0$. If (2.1) holds, where

$$
h_{k}(t) \geqslant h(t)=t-\frac{1}{\operatorname{e~sup}} \sum_{t \geqslant t_{0}}^{m} a_{i=1}^{m}(t),
$$

then equation (2.2) is exponentially stable.
Proof. For $t \geqslant t_{0}$ we have

$$
\begin{aligned}
\int_{h_{k}(t)}^{t} \sum_{i=1}^{m} a_{i}(s) \mathrm{d} s & \leqslant \sup _{t \geqslant t_{0}} \sum_{i=1}^{m} a_{i}(t) \sup _{t \geqslant t_{0}}\left(t-h_{k}(t)\right) \\
& \leqslant \sup _{t \geqslant t_{0}} \sum_{i=1}^{m} a_{i}(t) \frac{1}{\operatorname{esup}_{t \geqslant t_{0}} \sum_{i=1}^{m} a_{i}(t)}=\frac{1}{\mathrm{e}} .
\end{aligned}
$$

By Lemma 1.5 the fundamental function $X(t, s)$ of equation (1.2) is positive for $t \geqslant t_{0}$. Corollary 1 implies this corollary.

Remark 1. If $a_{k}(t) \equiv a_{k}>0$ then equality (2.1) has the form

$$
\limsup _{t \rightarrow \infty} \sum_{k=1}^{m} a_{k}\left(t-g_{k}(t)\right)<1+\frac{1}{\mathrm{e}}
$$

This stability condition was obtained in [1] for piecewise continuous delays.

Corollary 3. Assume that $a_{k}(t) \geqslant 0, \sum_{k=1}^{m} a_{k}(t) \geqslant a_{0}>0$ and the fundamental function $X(t, s)$ of equation (1.2) is positive. If $\limsup _{t \rightarrow \infty} \sum_{k=1}^{m}\left|a_{k}(t)-b_{k}(t)\right| / \sum_{i=1}^{m} a_{i}(t)<$ 1, then the equation $\dot{x}(t)+\sum_{k=1}^{m} b_{k}(t) x\left(h_{k}(t)\right)=0$ is exponentially stable.

Corollary 4. Suppose that there exists a set of indices $I \subset\{1, \ldots, m\}$ such that $a_{k}(t) \geqslant 0, k \in I, \sum_{k \in I} a_{k}(t) \geqslant a_{0}>0$, and the equation $\dot{x}(t)+\sum_{k \in I} a_{k}(t) x\left(h_{k}(t)\right)=0$ has a positive fundamental function. If $\limsup _{t \rightarrow \infty} \sum_{k \notin I}\left|a_{k}(t)\right| / \sum_{k \in I} a_{k}(t)<1$, then equation (1.2) is exponentially stable.

Consider now two autonomous equations

$$
\begin{align*}
& \dot{x}(t)+\sum_{k=1}^{m} a_{k} x\left(t-\delta_{k}\right)=0  \tag{2.3}\\
& \dot{x}(t)+\sum_{k=1}^{r} b_{k} x\left(t-\sigma_{k}\right)=0 \tag{2.4}
\end{align*}
$$

Corollary 5. Suppose that $a_{k}>0, k=1, \ldots, m, r \geqslant m$, and the characteristic equation of (2.3)

$$
\begin{equation*}
\lambda=\sum_{k=1}^{m} a_{k} \mathrm{e}^{\lambda \delta_{k}} \tag{2.5}
\end{equation*}
$$

has a positive root. If in addition

$$
\sum_{k=1}^{m}\left|a_{k}-b_{k}\right|+\left(\sum_{k=1}^{m}\left|b_{k}\left(\delta_{k}-\sigma_{k}\right)\right|\right)\left(\sum_{k=1}^{r}\left|b_{k}\right|\right)+\sum_{k=m+1}^{r}\left|b_{k}\right|<\sum_{k=1}^{m} a_{k},
$$

then equation (2.4) is exponentially stable.
Proof. Suppose $\lambda_{0}>0$ is a positive root of equation (2.5). Then equation (2.3) has a positive solution $x(t)=\mathrm{e}^{-\lambda_{0} t}$ and the fundamental function of equation (2.3) is positive. Theorem 2.1 implies this corollary.

Corollary 6. Suppose that $a_{k}>0, k=1, \ldots, m$ and the characteristic equation (2.5) has a positive root. If $\sum_{k=1}^{m} a_{k}\left|\delta_{k}-\sigma_{k}\right|<1$, then the equation

$$
\begin{equation*}
\dot{x}(t)+\sum_{k=1}^{m} a_{k} x\left(t-\sigma_{k}\right)=0 \tag{2.6}
\end{equation*}
$$

is exponentially stable.

Corollary 7. Suppose that $a_{k}>0, k=1, \ldots, m$. If $\sum_{k=1}^{m} a_{k}\left|\sigma_{k}-\left(\mathrm{e} \sum_{i=1}^{m} a_{i}\right)^{-1}\right|<1$, then equation (2.6) is exponentially stable.

Corollary 8. Suppose that $a_{k}>0$ and the characteristic equation (2.5) has a positive root. If $\sum_{k=1}^{m}\left|a_{k}-b_{k}\right|<\sum_{k=1}^{m} a_{k}$, then the equation $\dot{x}(t)+\sum_{k=1}^{m} b_{k} x\left(t-\delta_{k}\right)=0$ is exponentially stable.

Theorem 2.2. Assume that $a_{k}(t) \geqslant 0, \sum_{k=1}^{m} a_{k}(t) \geqslant a_{0}>0$ and the fundamental function $X(t, s)$ of equation (1.2) is positive. Assume in addition that $r \leqslant m$ and $\limsup _{t \rightarrow \infty} \frac{1}{\sum_{k=1}^{m} a_{k}(t)}\left[\sum_{k=1}^{r}\left|a_{k}(t)-b_{k}(t)\right|+\sum_{k=1}^{r}\left|b_{k}(t)\right|\left|\int_{g_{k}(t)}^{h_{k}(t)} \sum_{i=1}^{r}\right| b_{i}(s)|\mathrm{d} s|+\sum_{k=r+1}^{m}\left|a_{k}(t)\right|\right]$
is less than one. Then equation (1.1) is exponentially stable.
Proof. The proof is similar to the proof of Theorem 2.1 after we rewrite (1.9) as

$$
\begin{aligned}
\dot{x}(t) & +\sum_{k=1}^{m} a_{k}(t) x\left(h_{k}(t)\right)-\sum_{k=1}^{r}\left(a_{k}(t)-b_{k}(t)\right) x\left(h_{k}(t)\right) \\
& -\sum_{k=1}^{r} b_{k}(t) \int_{g_{k}(t)}^{h_{k}(t)} \dot{x}(s) \mathrm{d} s-\sum_{k=r+1}^{m} a_{k}(t) x\left(h_{k}(t)\right)=f(t) .
\end{aligned}
$$

## 3. Discussion and open problems

Unlike most papers on this topic, all results of the present paper are obtained under the assumption that coefficients and delays are measurable and solutions are absolutely continuous functions.

Let us compare Corollary 1 and Lemma 1.1 from [1] for constant coefficients satisfying $\sum_{k=1}^{m} a_{k}=-1, a_{k} \leqslant 0, k=0, \ldots, m$. If the comparison autonomous equation (1.5) has a positive fundamental function, then we obtain sufficient stability conditions for (1.4)

$$
\begin{equation*}
\limsup _{t \rightarrow \infty} \sum_{k=1}^{m}\left|a_{k}\right|\left|\nu_{k}(t)\right|<1 \text { and } \sum_{k=1}^{m}\left|a_{k}\right| \limsup _{t \rightarrow \infty}\left|\nu_{k}(t)\right|<1, \tag{3.1}
\end{equation*}
$$

respectively. Evidently the first condition is better than the second inequality. We treat equations with variable coefficients and measurable parameters as perturbations of equations with positive coefficients and positive fundamental functions, while in [1] vector equations are considered as perturbations of arbitrary stable autonomous delay equations.

Overall, all stability preservation results of the present paper assume that the non-perturbed equation has a positive fundamental function. In other words, they answer the following question: how much can we perturb a nonoscillatory equation with positive coefficients so that its stability property be preserved? The signs of the perturbed coefficients can be arbitrary.

Finally, let us list some relevant open problems.
(A) Extend the results to the case when the coefficients of the non-perturbed equation (1.2) may be positive and negative, and also oscillating.
(B) Consider perturbations of the exponentially stable system of delay equations with variable coefficients

$$
\begin{equation*}
\dot{x}(t)+\sum_{k=1}^{m} A_{k}(t) x\left(h_{k}(t)\right)=0 . \tag{3.2}
\end{equation*}
$$

Is it possible to obtain explicit stability conditions for the perturbed equation (in terms of delays and coefficients, not the fundamental function of (3.2))?
(C) Consider more general delays, for example, study the equation with a distributed delay

$$
\begin{equation*}
\dot{x}(t)+\sum_{k=1}^{m} b_{k}(t) x\left(g_{k}(t)\right)+\int_{h(t)}^{t} K(t, s) x(s) \mathrm{d} s=0 \tag{3.3}
\end{equation*}
$$

as a perturbation of either (1.1) or $\dot{x}(t)+\int_{g(t)}^{t} M(t, s) x(s) \mathrm{d} s=0$ and obtain explicit conditions under which stability is preserved.

## References

[1] I. Györi, F. Hartung, J. Turi: Preservation of stability in delay equations under delay perturbations. J. Math. Anal. Appl. 220 (1998), 290-312.
[2] L. Berezansky, E. Braverman: Preservation of the exponential stability under perturbations of linear delay impulsive differential equations. Z. Anal. Anwendungen 14 (1995), 157-174.
zbl
[3] J. K. Hale, S. M. Verduyn Lunel: Introduction to Functional Differential Equations. Applied Mathematical Sciences, Vol. 99, Springer, New York, 1993.
[4] N. V. Azbelev, L. Berezansky, L. F. Rakhmatullina: A linear functional-differential equation of evolution type. Differ. Equations 13 (1977), 1331-1339.
[5] N. V. Azbelev, L. Berezansky, P. M. Simonov, A. V. Chistyakov: The stability of linear systems with aftereffect I. Differ. Equations 23 (1987), 493-500; II. Differ. Equations

27 (1991), 383-388; III. Differ. Equations 27 (1991), 1165-1172; IV. Differ. Equations 29 (1993), 153-160.
zbl zbl zbl zl
[6] N. V. Azbelev, P. M. Simonov: Stability of Differential Equations with Aftereffect. Stability and Control: Theory, Methods and Applications, Vol. 20. Taylor \& Francis, London, 2003.
[7] L. Berezansky, E. Braverman: Nonoscillation and exponential stability of delay differential equations with oscillating coefficients. J. Dyn. Control Syst. 15 (2009), 63-82.
[8] I. Györi, G. Ladas: Oscillation Theory of Delay Differential Equations with Applications. Clarendon Press, Oxford University Press, New York, 1991.

Authors' addresses: Leonid Berezansky, Department of Mathematics, Ben-Gurion University of the Negev, Beer-Sheva 84105, Israel, e-mail: brznsky@cs.bgu.ac.il; Elena Braverman, Department of Mathematics and Statistics, University of Calgary, 2500 University Drive N.W., Calgary, AB T2N 1N4, Canada, e-mail: maelena@math.ucalgary.ca (corresponding author).

